
SAP ABAP table TPKBP {Kanban calculation profile}

TPKBP

MANDT [CLNT (3)]

WERKS [CHAR (4)]

KCPRF [CHAR (4)]

VERTI [CHAR (4)]

TSTRID [CHAR (10)]

SCHGRUP [CHAR (2)]

SPROG [CHAR (4)]

FABKL [CHAR (2)]

SCHGRUPV [CHAR (2)]

SPROGV [CHAR (4)]

FABKLV [CHAR (2)]

TSTRIDV [CHAR (10)]

MRPPP [CHAR (3)]

T000

MANDT [CLNT (3)]

 TPKBP-MANDT = T000-MANDT 
0..N

1

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 TPKBP-WERKS = T001W-WERKS 
0..N

1

T437V

MANDT [CLNT (3)]

WERKS [CHAR (4)]

VERTL [CHAR (4)]

 TPKBP-VERTI = T437V-VERTL 0..N

1

T439G

MANDT [CLNT (3)]

WERKS [CHAR (4)]

MRPPP [CHAR (3)]
 TPKBP-MRPPP = T439G-MRPPP 0..N

0..N

TC38A

MANDT [CLNT (3)]

SCHGRUP [CHAR (2)]

SPROG [CHAR (4)]

SCHNR [NUMC (1)]

 TPKBP-SPROG = TC38A-SPROG 
0..N

0..N  TPKBP-SPROGV = TC38A-SPROG 
0..N

0..N

TC39A

MANDT [CLNT (3)]

SCHGRUP [CHAR (2)]

 TPKBP-SCHGRUP = TC39A-SCHGRUP 

0..N

0..N

 TPKBP-SCHGRUPV = TC39A-SCHGRUP 

0..N

0..N

TFACD

IDENT [CHAR (2)]

 TPKBP-FABKL = TFACD-IDENT 

0..N

0..N

 TPKBP-FABKLV = TFACD-IDENT 
0..N

0..N

TTSTR

MANDT [CLNT (3)]

TSTRTYPE [CHAR (2)]

TSTREAMID [CHAR (10)]

CALENDARID [CHAR (2)]

 TPKBP-TSTRID = TTSTR-TSTREAMID 

0..N

0..N

 TPKBP-TSTRIDV = TTSTR-TSTREAMID 

0..N

0..N


